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TATA P e ® o 1254 & 5% 63 ¥ (k53 %)2 - FKH (ATEEE R pAtERELIAEY I
- 12K &P BRkERE:E = AR
THER
Al 4.1%0.45+3,595x2.35+5.7x11.37+4.15x2.7 = 86310 1146.96+90.93+132.9419.51+19.13411.65+5.58 = 1426.66 #
A2 10.295x3.05+11.345x2.65+1.675x2.15+2.6x4.82 = 77.60a
A3 0.8x2.17+2.8x5.075+2.5¢3.52+6.775x3+8.375¢2.75 132.01¢ < 1426.67x10%=142.67¢ ...0K
+0.45x1.675 = 68.86¢
Bl B.37x2.8+6.77x3+2.75x8.37 = 66.77¢ 90.93-1.71=80.22¢ < 1426.67x10%=142.67¢ ...0K
B2 6.15x1.47+8.55x2.33+5.6x9 = 79.3# A+ B R
B3 4.6x2.65+4.27x3.45+6.715x6.4+1.45x2.17+3546.15 = 94.57w 132.01489.22=221.23¢ > 1426.67x15%=214.00¢ ...0K
Cl 1.85x5.75+5.3x1.33+7.44x9.6+1.15x2.65 = 92164 221.23-214.00=7.23¢( 1A emtes)
€2 2x1.725+3.8x4.97+2.45x2.375+7.15¢5.675+3.78x5.3=  8B.77+ LATERA
DI 1.675x2.45+2.675x4.235+3x4.685+3.985x2.775 132.94+19.13+11.65+5.58=169.26¢
+3.225x3,085+2.89x2.055+7.145x5.675 = 96.98¢
D2 4.21x1+1.73x1.45+8.49x9.71+0.59x1.65+5.35x2 1426.66-89.22-169.26+7.23=1175.41¢
+2.6x0.4 = 101.87# () (o MRl 5% 94)
£l 1.75x1.45+4.3x9.71+10.71x3.26 = 7920 —
E2 2.83501+4.86x0.35+7.50560. T141.75x1.45 = 7005¢ = ERFmS 14F
FI 2.515x3.15+2.3x1.05+1.885x2+9.435¢5.65 = 67.42¢
F2 7.65¢1.85+6.5%.15 = 67130 I, R B
A = 1146.96 ¢ %A, B, CH01 B R4 45M RS D81 O M RES 7. 65MRE,
SRCRRARE SO RENAE 052R
LT ] ABM (11~218) — WERAARR
Al 1.0x3.775+4.3x1.3 = 93¢ (86.31479.95+68.11+66.77+79.85+94.57)x11=5231.16 > 500¢
A2 3.795x1.0+1.95x2.6 = B8 CH (11~21M) — wEmasmm (92.16+88.77)x11=1990.23¢ > 500#
A3 3x1.675 = 503« D (11~19H) — WEEAANE
Bl 3x1.675 = 503¢ (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 500¢
B2 1.35x3.0+3.55¢1.0 = 760¢ X (11~130) — fer 79.21479.95)x3=477.48¢ < 500¢
213 gggﬂgg; e = 715¢ For (11~130) - so 67.42+67.13)x3=403.65 < 500¢
.68x1. x1.643.37x1. = 1.3
€2 2071.8+1.063.35 = 870 1, HEZE R
D1 3.225x1.675+1.0x3.425 = 883 ABH 3.76x2.68=10.08¢ > 10.00¢...0K
D2 1.525x2.55+3.12x1.2 = 7634 CH  45x2.39+1.45x0.4=11.34¢ > 10.00¢..0K
Elz ;gﬁ%gmgx:g = 763« DM 2.45¢4.085+1.15x1.425=11.65¢ > 10.00#...0
.92x1. 12x1. =  B20# i
FI 23.55 = 350 A WHREHE R
F2  2x1.425+1.925¢1.5 = 574d A,BH (17.36+17.25+10.08)=44.69¢
A,BHO.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 24914 > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
D% 1.351.85 = 250¢ CH  (31.07411.34)=42.41¢ > (82.94+78.75)x3%=4.85¢
N = 132.01¢ DM (2551411.65)=37.16¢ > (89.55+93.27)x3%=5.48¢
WEERY
AN 0.65%1.05+3.4x3.4+3.76x2.68 = 2.3¢ tﬁéﬁﬁiﬁl
B 0.82x1.25+5.1x2.6 = 14.29¢ i
CH 2056.11+4.52.30+1.45:0.4 - 2B Y e o Al
DN 5.6x2.51 = 1406¢ ; : :
A3 1.775x2.142.75x1.6 = 813
e %3;3'4405 - g;g: B1 1.775x2.142.75x1.6 = 813¢
o X = o083s B2 1.5x2.65+1.675x2.65 = B4l
- = B3 1.625x2.4+1.6x3.325 = 900¢
C1 1.625x2.4+1.6x3.325 = 922¢
o . 02 3.355¢1.6+2.695.725 - 1002¢
® 0.65d.05 = 0go¢ DI 2.341.675+1.625¢2.2 = 7430
BN 0.82x1.25 = 1.03¢ A :
D2 2.235x3.85 = B6O#
CH 1.45x0.4 = 058¢ E1 2235385 = BE0#
L = 200 E2 16750.35+181x140.4152.35 = B.99¢
I\ $TibikiRs A BE RS TR FI 1.885x2.025+1.825x2.2 = 783¢
HTER Al 2.4x2.5+1x1.7542.2x2.5+2.8x2.5+2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ...0K @ AN 5.075x3.42 = 17.3¢ F2 1.675x2.675+3.825¢1.325 = 9.55¢
Al L=4.5247.92+2.93+1.47+0.85=17.69M < 40M A2 2.4x2.5+2.4x2.5+2.4x2.5+0.9x1.3+1.6x1.5 =21.57¢ > 70.06/8=8.76 ...0K BE 5.045x3.42 = 17.25¢ Bxm
A2 L=4.6146.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.542x2.5+0.84x2.5+1x2.5+1.2x1.5 =16.90¢ > 60.73/8=7.59 ...0K R asn CH 1.11x1.3+2.43x3.46+(4.57+3.13)x0.72/2 Al 86.31-8.48 = T7183¢
A3 L=381+3.49+4.67+3.314+1.47+0.85=17.6M < 40M B 2.4x2.5+18x2.5+0.842.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ...0K 77 e +1.11x1.98+4.57x3.2+1.8¢1.85 = 7 A2 77.6-7.54 = 7006¢
Bl L=1.97+5.98+6.85+1.0240.75=16.57M < 40M B2 2.4x2.5+2.4x2.5+2.2¢2.5+1.4x1.8+1x1.75+1.6x1.4 =24.01¢ > 71.44/8=8.93 ...0K Z DM 2.7x4.57+0.59x1.05+0.35x0.7+1.275¢0.38 A3 68.86-8.13 = 60.73¢
B2 L=4.6+6.55+522+1.05+1.02+0.75=19.19M < 40M B3 2.4x2.5+2.4x2.5+2.4x2.5+22.5+1.6x1.5 =25.40¢ > 85.35/8=10.67 ...0K +4.09x2.89 = 2551¢ Bl 66.77-8.13 = S864n
B3 L=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.2M < 40M Cl 24x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ...0K EW 3.4x2.59+2.15¢1.05+3.4x3.17 = 2.84¢ B2 79.85-8.41 = 744
Ol L=4.746.8241.32+1.52=14.36M < 40M €2 2.4x2.5+2.4x2.542.4x2.5+1.6x1.541x1.75 =22.15¢ > 78.75/8=9.84 ...0K F 2.325x4.27+2.29x3.6 = 1817¢# B3 94.57-9.22 = B8535¢
€2 L=9.61+4.4=14.0M < 40M DI 2.2x2.5+24x2.5+1.6x1.5+2x1.5¢225+1.4x25  =25.408 > 89.55/8=11.19 ..0K === uopn ARt = 1329¢ C1 9216-9.22 = 8294¢
D1 L=4.0144.49+7.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x2.5+2.6x2.5+ 2x1.5+1.6x1.5 =21.00¢ > 93.27/8=11.66 ...0K B FREmN C2 88.77-10.02 = T875¢
D2 L=4.7749.1240.98=14.87M < 40M Bl 2.8x2.5+2.8x2.5+2x2.5+1.6x1.5+1x1.75 =23.15¢ > 70.61/8=8.83 ...0K Fres AR 2.35x2.15 = 505¢ D1 96.98-7.43 = B83.55¢#
Bl L=4.5142.48+2.34+3.3+2.77=15.4M < 50M 2 2.8x2.5+2.8x2.5+2.4x2.5+1.6x1.5+1x1.75 =24.15¢ > 70.96/8=8.87 ...0K BN 2.4x2.17 = 52¢ 02 101.87-8.60 = 93.27¢
E2 L=4.5+5.78+0.87=11.15M < 50M FI 2.4x2.5+2.4x2.5+1.8x2.5+2.2x2.5 =22.00¢ > 50.59/8=7.45 ...0K Ew 2.35x215 = 505¢ £l 79.21-860 = J061¢
FI L=3.56+1.93+6.69+1.94=14.12M < 50M F2 2.22.5+2.2x2.5+2.6x2.5+2.2x2.5+0.9x2.5 =25.25¢ > 57.58/8=7.20 ...0K Fr 21x2 = 4200 2 79.95-8.99 = 709+«
F2 1=4.345.75+0.71=10.76M < 50M Nt = 1951¢ Flz g;g:;gg = 23.553:
Al L=4.5247.92+2.93+1.47+0.85=17.69M < 20M ABM2.7x2.5 = 675¢
A2 L=4.614+6.23+3.45+1.47+0.85=16.61M < 20M CH 2.45x2.55 = 6.25¢
A3 L=4.4642.57+4.63+2.48+1.47+0.85=16.46M < 20M DM 2.5¢2.45 = 613
Bl L=4.5742.96+7.69+1.0240.75=16.99M < 20M A = 19.13¢
B2 L=4.6+6.55+522+1.05+1.02+0.75=19.19M < 20M
B3 L=4.63+4.69+3.45+2.6141.05+1.02+0.75=18.2M < 20M DN 2.45¢4.085+1.425x1.15 = 1165¢
Ol L=4.7+6.8241.3241.52=14.36M < 20M At = 1165¢
€2 L=9.61+4.4=14.0M < 20M SRTERE
D1 L=4.01+4.49+7.78+0.71=16.99M < 20M A,BM0.55x1.65x2 = 182¢
D2 L=4.58+8.07+0.98=13.63M < 20M DN 1535x2.45 = 376¢
El L=4.514+2.48+2.34+3.3=12.63M < 50M Mt =  558¢
2 L=45+5.78=10.28M < 50M - L = R 7 o4l E —
FI L=3.56+1.93+6.69+1.94=12.18M < 50M #11-32 — é] R 7&! BT ﬁ(&ﬂ 300)
F2 L=4.3+5.75+0.71=10.05M < 50M
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2 2 ¥l 3 = L A o ! )3'< A5 g AL | P 3 > DI
—THE &P BHRERTH = IR ERe
HHER LT
M 415045+3.595¢2.35+5.7x1.37+4.15:2.7 = 863 843.08+62.17+92.89+10.26+19.13+22.9945.58 = 1056.10¢
A2 10.2953.05+11.345x2.65+.675:2.15+2.6:482 = 77.60¢ [
A3 0.862.17+2.8x5.075+2.5¢3.5246.775x3+8.375:2.75 109.06¢ > 1056.10x10%=105.61d¢
+0.45%1.675 = 6886 109.06-105.61=3.45¢( A mns)
Bl B.37X2.8+6.77x3+2.75%8.37 = 66.77¢ R EARER
B2 6.15¢.47+8.55x2.33+5.6x9 = 79.36¢ 62.17-1.71=60.46¢ < 1056.10x10%=10561¢ ...0K
B3 4.6x2.65+4.27x3.45+6.715k6.4+1.45x21743.5:6.15 = 9457 ¢ R+ Bl AR
C1  1.85¢5.75+5.3x1.33+7.4440.6+1.15x265 = 960 109.06+60.46=169.52¢ > 1056.10x15%=158.42¢
€2 20.725+3.8x4.9742.452.375+ 7.155.675+3.78:5.3=  88.77 ¢ 169.52-158.42=11. 100 ATRERE)
DI 1.675¢2.45+2.675x4.235+3¢4.685+3.985¢2.775 PRTER
+3.225x3.085+2.89x2.055+7.145x5.675 = 96.98¢ 92.89+19.13+22.99+5.58=140.59¢
D2 3.26x141.731.45+7.54x9.7140.59¢1.65+5.35x2 SRREEE R (mesmm0%89)
+2.640.4 9€.70¢ 1059.55-60.46~140.50+11.10+3,45=873.05¢
M = B4308¢ (M) () (s-mesmnl57ms)
A 1.03.775+4.3x1.3 9.37¢
X9, . IX 1. = 2
A2 3.795¢1.041.95:26 = 887 - ¥Brghy 10P
A3 3x1.675 = 503¢
Bl 341675 = 503¢ 0O R e
B2 2.425x1+3.0x1.35 = 6.48¢ #%A,B,CHR01 M AN7 4, 45M R D41 O M KNG 7. 65M RS,
B3 4.27x1.675+3.35¢1.0 = 1050¢ SRTZRRATR, WRE/HHA WA 052K
C1 3.68x1.675+1.11x1.6+3.25¢1.0 = 1.19¢ ABE (11~210) - wENATIR
€2 2.97x.8+1.0:3.37 = 8n¢ (86.31+79.95+68.1+66.77+79.85+94.57)x11=5231.16 > 500¢
i L D1 3.225x1.675+1.0x3.425 = 883¢ CH (11~21H) - wmasmR (92.16+88.77)x11=1990.23¢ > 500¢
| D2 1.525x2.55+3.12x1.2 = 763¢ D# (11~198) - EESA7RE
| A,B#0.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 2491« (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 500d
| D® 1.35x1.85 = 250¢ EX (11~130) - solt 79.21479.95)x3=477.48¢ < 500¢
2 M = 109.06¢ F (30 - m8  (67.42467.13)x3=40365 < 500¢
SRR A, HEEE SR
: | A 0.65x1.05+3.4x3.4+3.76x2.68 = 23¢ ABM 376x2.68=10.08¢ > 10.00¢...0K
------- o B 0.82x1.25+5.1x26 = 14.29¢ CH  45:2.39+1.45:0.4=11.34¢ > 10.00+...0K
cH 225611 = 1150¢ D¥  2.45¢4.085+1.15¢1.425=11.65¢ > 10.00¢...0K
DM 56x2.51 = 14060 =
At = 67 A RhReHERRN
% ABH (17.36+17.25+10.08)=44.69¢
T i HCROM BN > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
% 3 AW 0.65¢1.05 = 068¢ CH Est.o7+n.34 =4241¢ > 82.94+78.75gx3%=4.85!
" & B 0.824.25 = 103¢ DE  (2551411.65)=37.16¢ > (89.55+83.10)x3%=5.18¢
e M = 1N R
g S lrg E t EXERHE
—— ! BRERN 707 |
i, AR 5.075¢3.42 = 1736¢ Al 1.25x0.45+1575x2.174+1.65x2725 =  8.48¢
B 5.045:3.42 = nxne A2 1.675x2.175+1.675x2.325 = 754¢
——————r ] E CH 1.11x1.3+2.43x3.46+(4.57+3.13)x0.72/2 A3 1.775x2.142.75x1.6 - 813¢
+1.11x1.98+4.57x3.2+1.8x1.85 = J71+¢ Bl 1.775x2.142.75x1.6 - 813¢
18 DW 2.7x4.57+0.59x1.05+0.35%0.7+1.275x0.38 B2 1.5x2.65+1.675%2.65 = 8.41¢
s S = g B3 1.625x2.4+1.6x3.325 = 920
: = g12 1.625¢2.4+1.6x3.325 = 9n¢
3.355x1.6+2.695x1.725 = 10.02¢
~ e i — DI 2.3x.675+1.625x2.2 = 743¢
i A 24x25+1.75+2.2x2 542 B2, 5+2Bx2.5+1x1.75  =20.00¢ > 77.83/8=9.73 ..0K p = 1026¢ -
Al [=452+7.9242.93+1.47+0.85=17.60M < 40M A2 24x2.5+24x25+2.4x2.5+0.9x.3+1.6x1.5 =2157¢ > 70.06/8=8.76 ...0K e
A2 L=46146.23+3.45+1.47+0.85=16.61M < 40M A3 2.0x2.5+2x2.5+0.84x2. 5+1x2.5+1.2¢1.5 =16.90¢ > 60.73/8=7.59 ...0K B 2 ReTERI Al 86.31-8.48 = 78
A3 L=3814349+4.67+33141.47+0.85=17.6M < 40M Bl 2.4x2.5+1.8x2.5+0.84x2.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ..0K e ABN2T25 = 675¢ A2 71.6-7.54 = 006¢
Bl L=1.97+598+6.85+.02+0.75=16.57M < 40M B2 24x2.5+24x25+2.22.5+1.41.B+1x1.75+1.6x1.4 =24.01¢ > 71.44/8=8.93 ..0K A CH 245x255 = 625¢ A3 68.86-813 = 8.n5¢
B2 L=46+6.55¢5.22+1.05+1.02+0.75=19.19M < 40M B3 24x2.5+2.4x25+ 2425+ 2X25+1.6x1.5 =25.40¢ > 85.35/8=1067 ..OK DR 250245 = 613¢ 61 9871413 = R
B3 L=4.63+4.69+3.45+261+1.05+1.02+0.75=18.2M < 40M Ol 24x2.5+24x25+2.42.5+22.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ..0K p = 1913¢ B2 7.5-84 = N4
O L=4.7+6.82+1.32+1.52=14.36M < 40M €2 24x2.5+24x2.5+24x2.5+1.6x1.5+1x1.75 =22.15¢ > 78.75/8=9.84 ...0K B3 94.57-9.22 = 8.3%¢
C2 L=9.61+4.4=1401M < 4OM DI 22x25+24x25+1.6x1.5+2X1. 5+ 225H.4x25  =2540¢ > 89.55/8=11.19 ...0K AR 0 9216-9.2 = QN+
DI L=4.01+449+7.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x25+26x2.5+2x1.5+1.6x1.5 =21.00¢ > 83.10/8=10.39 ...OK OO 1.45¢2.79+2.39x3.05 = N34 gf iy - ;g;g:
D2 L=4.77+9.12+0.98=14.87M < 40M DM 2.45x4.085+1.425x1.15 = 1165¢ 02 91'70:5'50 - B0
N = 2299¢ o -
Easiin
Al [=45247.9242.93+1.47+0.85=17.60M < 20M SRTEN
A2 L=4.6146.23+3.45+1.47+0.85=16.61M < 20M A,BHO.55x1.65x2 = 182¢
A3 L=4.46+2.57+463+2.48+1.47+0.85=16.46M < 20M DA 1.535:2.45 = 376¢
Bl L=457+2.96+7.69+1.02+0.75=16.99 < 20M p = 558¢
B2 L=4.6+6.55+5.2241.05+1.02+0.75=19.19M < 20M
B3 L=4.63+4.69+3.45+261+1.05+.0240.75=18.2M < 20M
1 L=4.7+6.82+1.32+1.52=14.36M < 20M
€2 L=9.61+44=1401M < 20M
DI L=4.01+449+7.78+0.71=16.99M < 20
D2 L=4.58+8.07+0.98=1363M < 20M
" » =g > " e
B111-34 - = & & - & Bl(S=1/300)
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